
书书书

１８．
（２０２２·

泉
州
鲤
城
区
校
级
期
末
）
如
图
１１
所
示
，图
甲
是
某
款
即
热
式
电

热
水
龙
头
，图
乙
是
它
的
电
路
原
理
图
，Ｒ
１
和
Ｒ
２
是
阻
值
分
别
为
２２
Ω
和
４４
Ω
的

电
热
丝
．通
过
旋
转
手
柄
改
变
与
开
关
Ｓ
接
触
的
两
个
相
邻
触
点
，
实
现
冷
水
、
温

水
、热
水
挡
的
切
换
，则
开
关
Ｓ
接
触

（
选
填
“１
、２
”
“２
、３
”
或
“３
、４
”
）
触

点
时
，水
龙
头
放
出
的
是
温
水
．水
龙
头
在
热
水
挡
正
常
工
作
３００
ｓ
产
生
的
热
量
是

Ｊ．

１９．某
同
学
设
计
了
一
个
电
子
身
高
测
量
仪
，
电
路
图
如
图
１２
所
示
，
其
中

Ｒ
１
＝
５
Ω
，
电
源
电
压
恒
为
４． ５
Ｖ
，Ｒ
２
的
规
格
为
“ １５
Ω
　
０ ．５
Ａ
”
，
电
压
表
量
程

为
０
～
３
Ｖ
，电
流
表
量
程
为
０
～
０． ６
Ａ
．
当
被
测
身
高
增
加
时
，
电
压
表
的
示
数

（
选
填
“
变
大
”
“
变
小
”
或
“
不
变
”
）
；
当
变
阻
器
Ｒ
２
接
入
电
路
的
阻
值

是
４
Ω
时
，电
阻
Ｒ
１
的
功
率
为

Ｗ
．

２０．
如
图
１３
所
示
，电
源
电
压
恒
定
为
１２
Ｖ
，小
灯
泡
上

标
有
“ ６
Ｖ
　
３．６
Ｗ
”
字
样
，灯
丝
电
阻
保
持
不
变
．
当
只
闭

合
Ｓ
、Ｓ
１
时
，小
灯
泡
正
常
发
光
；当
所
有
开
关
都
闭
合
，滑
动

变
阻
器
的
滑
片
Ｐ
滑
到
最
右
端
时
，
电
流
表
Ａ
的
示
数
是

１．８
Ａ
．
则
定
值
电
阻
Ｒ
１
的
阻
值
为

Ω
；滑
动
变
阻

器
Ｒ
２
的
最
大
阻
值
为

Ω
；小
灯
泡
通
电
时
消
耗
的

最
小
电
功
率
是

Ｗ
．

三
、
实
验
探
究
题
（
共
２８
分
）

２１．（８
分
）
在
探
究
“
电
流
做
功
的
多
少
与
哪
些
因
素
有
关
”
时
，
同
学
们
猜
想
：

电
流
做
功
的
多
少
可
能
与
用
电
器
两
端
的
电
压
、
通
过
用
电
器
的
电
流
和
通
电
时
间

有
关
．小
浩
同
学
利
用
所
学
知
识
设
计
并
连
接
了
如
图
１４
甲
所
示
的
实
验
电
路
．

（１
）
实
验
电
路
中
的
两
个
小
灯
泡
Ｌ
１
和
Ｌ
２
的
规
格
应

（
选
填
“
相

同
”
或
“
不
同
”
）．

（２
）
小
浩
在
实
验
电
路
中
接
入
一
个
滑
动
变
阻
器
，目
的
之
一
是
为
了
保
护
电

路
，另
一
个
目
的
是

．

（３
）
在
图
甲
所
示
的
电
路
中
，
两
个
小
灯
泡
是

（
选
填
“
串
联
”
或

“
并
联
”
）
的
，这
样
连
接
是
为
了
探
究
电
流
做
功
的
多
少
与

（
选
填
“
电

流
”
或
“
电
压
”
）
的
关
系
．

（４
）
完
成
上
述
探
究
后
，小
浩
发
现
上
述
猜
想
中
有
一
个
猜
想
无
法
用
图
甲
所

示
的
电
路
验
证
，请
你
帮
助
小
浩
设
计
一
个
可
以
验
证
猜
想
的
电
路
，
把
电
路
图
画

在
图
１４
乙
的
虚
线
框
内
．

（５
）
对
于
“
电
流
做
功
的
多
少
可
能
与
通
电
时
间
有
关
”
的
猜
想
，
小
浩
是
否

必
须
通
过
实
验
验
证
？你
的
看
法
是

（
选
填
“
不
必
”
或
“
必
须
”
）．

２２．
（１１
分
）
小
珍
在
做
“
测
量
小
灯
泡
额
定
电
功
率
”
的
实
验
时
，
老
师
只
给

她
提
供
了
如
下
器
材
：
标
有
“２．５

Ｖ
”
的
小
灯
泡
、
电
源
（
电
压
不
变
）
、
滑
动
变
阻

器
、开
关
、单
刀
双
掷
开
关
、电
压
表
、阻
值
为
１０
Ω
的
定
值
电
阻
Ｒ
０ 、导
线
若
干
．她

根
据
所
给
定
的
器
材
经
过
认
真
思
考
后
，设
计
了
如
图
１５
甲
所
示
的
实
验
电
路
．

（１
）
小
珍
连
接
电
路
时
， 开
关
Ｓ
处
于

（
选
填
“
闭
合
”
或
“
断
开
”
）

状
态
．（２
）
闭
合
开
关
Ｓ
，将
Ｓ
１
拨
到
触
点

（
选
填
“ａ
”
或
“ｂ”
）
，移
动
变
阻

器
滑
片
Ｐ
，使
电
压
表
的
示
数
为

Ｖ
．

（３
）
在
确
保
整
个
电
路
安
全
的
情
况
下
，
保
持
滑
片
Ｐ
位
置
不
变
，
将
开
关
Ｓ
１

拨
到
另
一
触
点
，此
时
电
压
表
的
示
数
如
图
１ ５
乙
所
示
，
其
数
值
为

Ｖ
；

通
过
计
算
可
知
小
灯
泡
的
额
定
功
率
是

Ｗ
．

（４
）
小
珍
移
动
变
阻
器
滑
片
Ｐ
，
按
上
述
操
作
过
程
进
行
多
次
实
验
，
将
实
验

的
数
据
记
录
在
表
格
中
．通
过
比
较
发
现
小
灯
泡
两
端
电
压
变
大
时
灯
丝
的
电
阻
值

（
选
填
“
变
大
”
“
变
小
”
或
“
不
变
”
）
，
出
现
这
一
现
象
的
原
因
可
能
是

．

实
验
次
数

１
２

３
４

接
ａ
时
电
压
表
的
示
数
Ｕ
ａ ／Ｖ

１
１．５

２．０
２．５

接
ｂ
时
电
压
表
的
示
数
Ｕ
ｂ ／ Ｖ

３
３．８

４．８

２３ ．
（９
分
）
（２０２２·

乐
昌
校
级
期
末
）
采
用
如
图
１６
所
示
的
装
置
探
究
“
电
流

产
生
的
热
量
跟
什
么
因
素
有
关
”
，接
通
电
源
，
瓶
内
的
空
气
被
加
热
后
膨
胀
，
使
Ｕ

形
管
中
的
液
面
发
生
变
化
．

（１
）
两
个
密
闭
瓶
内
的
电
阻
丝
发
热
的
多
少
是
通
过

来
反
映
的
，这
种
研
究
物
理
的
方
法
叫

．
（２
）
如
图
１６
甲
所
示
，
通
电
一
段
时
间
后
，

（
选
填
“
左
瓶
”
或
“
右

瓶
”
）
内
的
电
阻
丝
产
生
的
热
量
较
多
，通
过
实
验
可
得
出
结
论
：在
电
流
和
通
电
时

间
一
定
时
，电
阻
越

（
选
填
“
大
”
或
“
小
”
）
，电
流
产
生
的
热
量
越
多
．

（３
）
如
图
１６
乙
所
示
，两
密
闭
瓶
中
的
电
阻
一
样
大
，在
其
中
一
个
的
外
部
并

联
一
个
阻
值
大
小
相
同
的
电
阻
， 则
通
过
两
瓶
中
电
阻
丝
的
电
流

（
选
填

“
相
同
”
或
“
不
同
”
）．

（４
）
让
实
验
装
置
冷
却
到
初
始
状
态
，把
乙
图
右
瓶
并
联
的
两
根
电
阻
丝
都
放

入
瓶
内
，接
通
电
源
，比
较
两
瓶
内
电
阻
丝
发
热
多
少
，此
时
该
装
置
是
探
究
电
流
产

生
的
热
量
跟

（
选
填
“
电
流
”
或
“
电
阻
”
）
的
关
系
，一
段
时
间
后
电
阻
丝

产
生
的
热
量

（
选
填
“
左
瓶
”
“
右
瓶
”
或
“
两
瓶
一
样
”
）
多
．

四
、
计
算
题
（
共
２０
分
）

２４．
（８
分
）
小
军
和
小
明
在
学
习
了
电
学
知
识
后
，设
计
了
如
图
１７
所
示
的
电

路
．
灯
泡
Ｌ
上
标
有
“３．８

Ｖ
　
０．３
Ａ
”
的
字
样
，Ｒ
为
定
值
电
阻
．闭
合
开
关
后
，灯
泡

Ｌ
恰
好
正
常
发
光
，电
流
表
的
示
数
为
０．４
Ａ
．通
过
计
算
回
答
：

（１
）
灯
泡
Ｌ
的
额
定
功
率
．

（２
）
定
值
电
阻
Ｒ
的
阻
值
．

（３
）
整
个
电
路
通
电
１
ｍ
ｉｎ
，定
值
电
阻
Ｒ
产
生
的
热
量
．

２５．（１２
分
）
某
型
号
电
热
水
壶
有
加
热
、保
温
和
干
烧
断
电
功
能
，
其
简
化
电
路

如
图
１８
所
示
．Ｓ
１
是
壶
底
温
控
开
关
，通
常
闭
合
，当
壶
底
发
热
盘
温
度
达
到
１２０
℃

自
动
断
开
，Ｓ
２
是
壶
壁
温
控
开
关
，闭
合
时
对
水
加
热
，断
开
时
对
水
保
温
．已
知
电
热

水
壶
保
温
功
率
为
５５
Ｗ
，电
阻
丝
Ｒ
２
的
电
阻
为
８３６
Ω
．求
：

（１
）
电
热
水
壶
处
于
保
温
状
态
时
，电
路
中
的
电
流
．

（２
）
电
热
水
壶
的
加
热
功
率
．

（３
）
若
水
烧
开
后
， Ｓ
２
没
有
自
动
断
开
，当
壶
里
的
水
烧
干
瞬
间
，发
热
盘
的
温

度
为
１１０
℃
， 已
知
发
热
盘
质
量
为
０．４４

ｋｇ，比
热
容
为
０．５
×
１０
３Ｊ／（ｋｇ·

℃
）
，不

计
热
量
损
失
，经
过
多
长
时
间
Ｓ
１
才
会
断
开
？
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《电
能
与
电
功
率
》
综
合
质
量
检
测
卷

◆
数
理
报
社
试
题
研
究
中
心

（
说
明
：
本
试
卷
为
闭
卷
笔
答
，
答
题
时
间
９０
分
钟
，
满
分
１０
０
分
）

题
　
号

一
二

三
四

总
　
分

得
　
分

一
、
选
择
题
（
每
小
题
３
分
，
共
３０
分
）

　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　
　

１．
下
列
关
于
电
能
的
说
法
正
确
的
是

（
　
　
）

Ａ
．电
源
是
将
电
能
转
化
为
其
他
形
式
的
能
的
装
置

Ｂ．
电
功
率
越
大
的
用
电
器
，消
耗
的
电
能
就
越
多

Ｃ．
电
能
表
是
用
来
测
量
用
电
器
消
耗
电
能
的
仪
表

Ｄ
．消
耗
电
能
相
同
的
用
电
器
，产
生
的
热
量
一
定
相
同

２．
电
风
扇
的
扇
叶
被
物
体
卡
住
了
，不
能
转
动
，不
一
会
儿
，电
风
扇
的
电
动
机

就
被
烧
毁
了
．在
电
风
扇
的
电
动
机
被
烧
毁
的
过
程
中
，下
列
说
法
正
确
的
是 （
　
　
）

Ａ
．电
能
只
转
化
为
机
械
能

Ｂ．
电
能
只
转
化
为
内
能

Ｃ．
电
能
同
时
转
化
为
机
械
能
和
内
能

Ｄ
．电
能
仍
旧
是
电
能
，没
有
发
生
转
化

３．
（
２０
２２
·
梁
山
校
级
期
末
）
一
个
“
２２
０
Ｖ
　
２５
Ｗ
”
的
甲
灯
正
常
发
光
３
ｈ，
另

一
个
“
１１
０
Ｖ
　
２５
Ｗ
”
的
乙
灯
正
常
发
光
４
ｈ，
由
此
可
知

（
　
　
）

Ａ
．甲
灯
的
实
际
功
率
较
大

Ｂ．
甲
灯
较
暗
，乙
灯
较
亮

Ｃ．
乙
灯
消
耗
的
电
能
较
多

Ｄ
．流
过
甲
灯
的
电
流
较
大

４．
如
图
１
所
示
是
洗
手
间
里
常
用
的
一
款
干
手
器
，其

铭
牌
上
标
有
“
２２
０
Ｖ
　
１
００
０
Ｗ
”
的
字
样
，
它
在
工
作
时
，

电
动
机
转
动
的
同
时
还
可
以
吹
出
热
风
，
下
列
说
法
正
确

的
是

（
　
　
）

Ａ
．使
用
干
手
器
时
是
将
电
能
转
化
为
内
能
和
机
械
能

Ｂ．
使
用
１
ｍ
ｉｎ
就
产
生
６
×
１０
４
Ｊ的
热
量

Ｃ．
干
手
器
的
额
定
功
率
越
大
，表
示
消
耗
电
能
越
多

Ｄ
．干
手
器
的
电
动
机
和
电
热
丝
一
定
是
串
联
的

５．
如
图
２
所
示
，已
知
电
阻
Ｒ １
＝
１０
Ω
、Ｒ
２
＝
１５
Ω
，

当
开
关
闭
合
后
，下
列
说
法
正
确
的
是

（
　
　
）

Ａ
．通
过
Ｒ １
与
Ｒ ２
的
电
流
之
比
为
２
∶
３

Ｂ．
Ｒ １
与
Ｒ ２
两
端
的
电
压
之
比
为
３
∶
２

Ｃ．
Ｒ １
与
Ｒ ２
消
耗
的
电
功
率
之
比
为
１
∶
１

Ｄ
．相
同
时
间
内
Ｒ １
与
Ｒ ２
产
生
的
热
量
之
比
为
２
∶
３

６．
如
图
３
所
示
是
探
究
“
影
响
电
流
热
效
应
因

素
”
的
实
验
装
置
，电
阻
丝
Ｒ １
和
Ｒ ２
分
别
密
封
在
两

只
完
全
相
同
的
烧
瓶
中
，且
Ｒ １
＜
Ｒ ２
，瓶
中
装
有
质
量

相
等
的
煤
油
．下
列
说
法
正
确
的
是

（
　
　
）

Ａ
．闭
合
开
关
后
，
装
Ｒ １
电
阻
丝
的
烧
瓶
中
温
度

计
示
数
上
升
较
快

Ｂ．
该
装
置
用
来
探
究
电
流
热
效
应
与
电
流
大
小
的
关
系

Ｃ．
将
某
一
烧
瓶
中
的
煤
油
换
成
等
质
量
的
水
，
可
比
较
煤
油
和
水
的
比
热
容

大
小

Ｄ
．实
验
中
，通
过
温
度
计
示
数
的
变
化
来
比
较
电
阻
丝
产
生
热
量
的
多
少

７．
（
２０
２２
·
如
皋
校
级
模
拟
）
如
图
４
所
示
为
一
种
新
型
电
器

——
—
无
叶
空
气
净
化
暖
风
器
，兼
具
风
扇
、制
暖
和
空
气
净
化
的
功

能
，其
制
暖
功
率
为
２
ｋＷ
．如
果
要
将
一
个
１５
ｍ
２
的
卧
室
温
度
从

５
℃
提
升
到
２０
℃
，
请
估
算
该
电
器
大
约
需
要
工
作
多
长
时
间

［
不
计
热
量
损
失
，
已
知
空
气
的
密
度
约
为
１．
３
ｋｇ
／ｍ
３
，
比
热
容
约

为
１．
０
×
１０
３
Ｊ／
（
ｋｇ
·
℃
）
］

（
　
　
）

Ａ
．２
ｍ
ｉｎ

Ｂ．
７
ｍ
ｉｎ

Ｃ．
１５
ｍ
ｉｎ

Ｄ
．２
０
ｍ
ｉｎ

８．
标
有
“
１２
Ｖ
　
４
Ｗ
”
和
“
６
Ｖ
　
６
Ｗ
”
的
两
个
小
灯
泡
，采
用
串
联
或
并
联
的

方
式
接
在
０
～
２０
Ｖ
电
压
可
调
的
学
生
电
源
两
极
上
．若
灯
丝
电
阻
不
受
温
度
影

响
，灯
的
实
际
电
功
率
不
得
超
过
其
额
定
电
功
率
，则
下
列
说
法
正
确
的
是
（
　
　
）

Ａ
．两
个
小
灯
泡
可
能
同
时
正
常
发
光

Ｂ．
电
源
电
压
的
最
大
值
是
１ ８
Ｖ

Ｃ．
电
路
总
功
率
的
最
大
值
是
７
Ｗ

Ｄ
．电
路
中
电
流
的
最
大
值
是
１．
２５
Ａ

９ ．
（
２０
２２
·
重
庆
南
岸
区
校
级
期
末
）
如
图
５
所
示
，电
源
电
压
恒
为
６
Ｖ
，电
流

表
量
程
为
０
～
０．
６
Ａ
，电
压
表
量
程
为
０
～
３
Ｖ
，定
值
电
阻
Ｒ １
的
阻
值
为
１０
Ω
，滑

动
变
阻
器
Ｒ ２
的
规
格
为
“
２０
Ω
　
１
Ａ
”
．闭
合
开
关
Ｓ，
在
确
保
电
路
安
全
的
前
提

下
，移
动
滑
动
变
阻
器
的
滑
片
Ｐ，
下
列
说
法
中
正
确
的
是

（
　
　
）

Ａ
．电
流
表
示
数
的
变
化
范
围
为
０．
２
～
０．
５
Ａ

Ｂ．
滑
动
变
阻
器
Ｒ ２
接
入
阻
值
为
２
～
２０
Ω

Ｃ．
滑
动
变
阻
器
Ｒ ２
的
最
大
功
率
为
０．
９
Ｗ

Ｄ
． 电
路
消
耗
的
最
大
总
功
率
为
３．
６
Ｗ

１０
．小
黄
家
中
新
购
置
了
一
台
壁
挂
式
电
热
水
器
，
他
查
看
了
电
热
水
器
的
说

明
书
后
，将
电
热
水
器
内
部
电
路
结
构
简
化
成
如
图
６
所
示
的
电
路
图
，
该
电
热
水

器
设
有
高
、中
、
低
三
挡
，
电
热
丝
Ｒ １
＝
４８
．４
Ω
，
电
热
丝
Ｒ ２
＝
２４
．２
Ω
，
容
积
为

２０
Ｌ，
使
水
从
２０
℃
加
热
到
７０
℃
，
下
列
说
法
不
正
确
的
是
［
水
的
比
热
容
为

４．
２
×
１０
３
Ｊ／
（
ｋｇ
·
℃
）
］

（
　
　
）

Ａ
．高
温
挡
的
加
热
功
率
为
２
８０
０
Ｗ

Ｂ．
开
关
Ｓ、
Ｓ １
闭
合
，Ｓ
２
断
开
，处
于
低
温
挡

Ｃ．
若
利
用
中
温
挡
加
热
需
要
４
２０
０
ｓ，
则
电
热
转
化
效
率
为
５ ０
％

Ｄ
．水
从
２０
℃
加
热
到
７０
℃
需
要
吸
收
的
热
量
为
４．
２
×
１０
６
Ｊ

二
、
填
空
题
（
每
空
１
分
，
共
２ ２
分
）

１１
．额
定
功
率
为
５０
０
Ｗ
的
电
热
器
，１
度
电
可
供
它
正
常
工
作

ｈ；
若

该
电
热
器
平
均
每
天
使
用
３
ｈ，
则
一
个
月
要
花
费
的
电
费
为

元
．［
按

０．
５
元
／（
ｋＷ
·
ｈ）
收
费
，
一
个
月
按
３０
天
计
算
］

１２
．为
改
善
学
习
环
境
，
某
小
学
在
２０
间
教
室
各
安
装
了
一
台
额
定
功
率
为

１
２１
０
Ｗ
的
空
调
，空
调
正
常
工
作
时
的
电
流
是

Ａ；
所
有
空
调
在
额
定
电

压
下
同
时
工
作
１０
ｈ，
耗
电

ｋＷ
·
ｈ．

１３
．（
２０
２２
·
辉
县
校
级
期
末
）
上
个
月
月
底
小
明
家
中

电
能
表
的
示
数
如
图
７
所
示
，若
他
家
有
“
２２
０
Ω
　
４０
Ｗ
”

的
电
灯
５
盏
，１
００
Ｗ
的
电
视
机
和
１
２０
０
Ｗ
的
电
饭
煲
各

一
个
，这
些
电
器
平
均
每
天
使
用
２
ｈ，
本
月
共
３０
天
，本
月

底
电
能
表
示
数
为

ｋＷ
·
ｈ，
电
能
表
转
盘
要
转

转
．

１４
．下
表
为
某
冰
箱
铭
牌
上
的
部
分
技
术
参
数
，正
常
情
况
下
，该
电
冰
箱
每
天

消
耗
的
电
能
为

ｋＷ
·
ｈ．
假
设
电
冰
箱
在
压
缩
机
停
止
工
作
时
不
消
耗
电

能
，且
每
次
制
冷
时
压
缩
机
工
作
１５
ｍ
ｉｎ
，则
该
电
冰
箱
每
天
启
动

次
．

额
定
电
压

２２
０
Ｖ

额
定
功
率

１５
０
Ｗ

耗
电
量

１．
２
ｋＷ
·
ｈ ／
２４
ｈ

１５
．（
２０
２２
·
兴
化
校
级
期
末
）
如
图
８
所
示
是
Ａ、
Ｂ
两
定
值
电
阻
的
Ｕ
－
Ｉ图

像
，由
图
像
中
信
息
可
知
：Ｒ
Ａ

Ｒ Ｂ
（
选
填
“
＞
”
“
＝
”
或
“
＜
”
）
；
若
将
Ａ、

Ｂ
两
电
阻
并
联
接
在
４
Ｖ
电
源
的
两
端
，Ｒ
Ａ
和
Ｒ Ｂ
的
电
功
率
之
比
为

，

１
ｍ
ｉｎ
内
电
阻
Ａ
产
生
的
热
量
为

Ｊ．

１６
．如
图
９
所
示
，只
闭
合
开
关
Ｓ时
，灯
Ｌ １
的
功
率
为
９
Ｗ
；断
开
开
关
Ｓ，
闭
合

开
关
Ｓ １
、Ｓ
２
时
，灯
Ｌ １
的
功
率
为
２５
Ｗ
，电
源
电
压
不
变
，忽
略
温
度
对
灯
丝
电
阻
的

影
响
，则
Ｌ １
与
Ｌ ２
电
阻
之
比
是

；闭
合
开
关
Ｓ １
、Ｓ
２
时
，灯
Ｌ ２
的
功
率
为

Ｗ
．

１７
．扫
地
机
器
人
自
动
清
洁
做
到
清
扫
抛
拖
一
步
到
位
，
彻
底
替
代
了
人
的
卫

生
打
扫
问
题
．如
图
１０
所
示
，扫
地
机
器
人
电
动
机
额
定
电
压
为
１２
Ｖ
，
正
常
工
作

时
通
过
线
圈
的
电
流
为
０．
５
Ａ
．若
此
电
动
机
线
圈
的
电
阻
为
４
Ω
，
那
么
这
台
电
动

机
正
常
工
作
１
ｍ
ｉｎ
，
线
圈
产
生
的
热
量
是

Ｊ，
电
动
机
所
做
的
总
功
为

Ｊ．
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